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SEE 2080 (2024) 

lj1fg tyf k|ljlw 

 

;do M # 306f           k"0f{fª\s M &% 
 

lbOPsf lgb]{zgsf cfwf/df cfˆg} z}nLdf l;h{gfTds pQ/ lbg'xf];\ . 

Write an answer in your own creative way on the basis of given 

instructions. 
 

;d"x …sÚ  (Group ‘A’) 

ax's}lNks k|Zgx¿M 

Multiple choice Question: 10x1=10 

!= tnsf k|Zgsf] ;aeGbf l7s ljsNk pQ/ k'l:tsfdf n]Vg'xf];\ . 

Write the best alternative of the following questions in the 

answer sheet. 

(a) tnsf dWo] l/l;e/sf] sfo{ s'g xf] < 

 Which of the following is the function of receiver? 

(i) k|fKt u/]sf] l;UgnnfO{ rfx]sf] ¿kdf kl/jt{g ug'{ 

 To convert received signal into desired form. 

(ii) Rofgnaf6 l8lh6n l;Ugn k|fKt ug'{ 

 To receive digital signal from channel. 

(iii) ;|f]taf6 Pgfnu l;Ugn k|fKt ug'{ 

 To receive analogue signal from source encoder. 

(iv) ;f];{ l;Ugn k|fKt ug'{ 

 To receive signal from source encoder. 

 (b) d; / plgpF b'j} cf]l;nf] / 5fofF k/]sf] 7fpFdf kfpg'sf] sf/0f s] xf] < 

 Why are mosses and ferns both found in moist and shady places? 

(i) k|sfz ;+Zn]if0fsf] nflu ;f}o{ k|sfz rflxFb}g . 

  Do not need sunlight for photosynthesis. 

(ii) sd tfkj|mddf dfq afFRg ;S5 . 

 Survive only at low temperature. 

(iii) kf]if0fsf] nflu ;"IdhLjx¿df lge{/ ub{5 . 

 Depend on microorganisms for nutrition. 

(iv) uef{wfgsf] nflu kfgL rflxG5 . 

 Requires water for fertilization. 

 (c) ;ld/fn] k|of]uzfnfdf hLjx¿sf] :k]l;d]g cjnf]]sg ubf{ b'j} hLj nfdf] / 

j]ngfsf/ kfOg\ . pgn] hLj A sf] z/L/ v08 v08 k/]sf] / hLj B sf] 

z/L/ v08 gk/]sf] kfOg . dfyLsf ljz]iftf cWoog u/L pSt hLjx¿ 

;DaGwL tnsf dWo] s'g syg ;xL 5 . 
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 When Samira observed specimen in the laboratory, she found that 

both the organisms were long and cylindrical. She also found that 

organism A has cylindrical segmented body and organism B has 

not segmented body. By studying the above characteristics which 

statement is true for these organisms? 

(i) hLj A l8Knf]Anfl:6s xf] eg] hLj B l6«Knf]Anfl:6s xf] . 

 Organism A is diploblastic whereas organism B is 

triploblastic. 

(ii) hLj A l6«Knf]Anfl:6s xf] eg] hLj B l8Knf]Anfl:6s xf] . 

 Organism A is triploblastic whereas organism B is 

diploblastic. 

(iii) hLj A df /St ;~rf/ k|0ffnL x'G5 eg] hLj B df x'Fb}g .  

 Organism A has well developed circulatory system whereas 

organism B has no circulatory system. 

(iv) hLj A df /St ;~rf/ k|0ffnL x'b}g eg] hLj B df x'G5 . 

 Organism A has no circulatory system whereas B has well 

developed circulatory system. 

(d) tnsf dWo] s'g ;d"x nf]kf]Gd'v hgfj/sf] ;d"x xf] < 

 Which of the following groups is a group of endangered animals? 

(i)  s[i0f;f/, hª\unL ofs, Ps l;+u] u}F8f  

 Black buck, Wild yak, One horned Rhinoceros 

(ii) lxdfnL efn', kf6] af3, :ofn  

 Brown bear, Bengal tiger, Jackal 

(iii) xfa|], k'8\s] aFb]n, d[u 

 Red Panda, Pigmy hog, Deer 

(iv) lxpF lrt'jf, hª\unL xfQL, 3f]8f 

 Snow leopard, Asiatic wild elephant, Horse 

(e) k[YjLsf] ;txdf u'?Tjk|j]usf] dfg g 5, olb k[YjLsf] lk08 / cw{Jof; 

b'j}nfO{ cfwf cfwf kfof]{ eg] o;sf] ;txdf u'?Tjk|j]u slt x'G5 < 

The acceleration due to gravity on the surface of the earth is g. If 

mass and radius both are made halved, what is the new value of 

acceleration due to gravity on the earth surface? 

(i)  g    (ii)   2g    (iii)   3g    (iv)   4g 

(f) lrqdf b]vfOPsf] pks/0f s'g l;4fGtdf cfwfl/t 5 < 

 On which principle given instrument based on? 

(i) kf:snsf] lgod Pascal's law 

(ii) cfls{ldl8hsf] l;4fGt Archimedes' Principle 

(iii) u'?Tjfsif{0fsf] lgod Law of Gravitation 
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(iv) Go'6gsf] lgod Newton's law 

(g) ;f]gLn] lk|Hdaf6 x'g] k|sfzsf] laR5]bgsf j|mddf b]lvg] a}hgL lgnf], 

kx]+nf] / /ftf] /ªsf k|sfzsf ls/0fsf] lk|Hdleqsf a]unfO{ j|mdzM ev, eb, 

ey / er gfdfs/0f ul/g\ . pgn] tL /ªsf j]ux¿sf] j|md ldnfpFbf s'g 

j|md ;xL x'G5 < 

 Soni named the speed of violet, blue, yellow and red coloured 

beam during dispersion of light in prism as ev, eb, ey and er 

respectively. Which is the correct order of speed made by her? 

       (i) er   ey    eb  ev         (ii)  er  > ey  > eb > ev  

  (iii) er   eb    ey  ev       (iv)  er  > eb    ey  ev 

(h) s'g cj:yfdf ;dtn a|Xdf08sf] kl/sNkgf ug{ ;lsG5 < 

Under what condition can the flat universe be hypothesized? 

(i) cf};t 3gTj / r/d 3gTj a/fa/ ePsf] cj:yfdf 

 When average density is equal with the critical density 

(ii) cf};t 3gTj, r/d 3gTjeGbf sd ePsf] cj:yfdf 

 When average density is less than the critical density 

(iii) cf};t 3gTj, r/d 3gTj eGbf al9 ePsf] cj:yfdf 

 When average density is greater than the critical density 

(iv) cf};t 3gTj / r/d 3gTj t'ngf ug{ g;lsg] cj:yfdf 

 When average density and critical density are not comparable 

(i) lbOPsf] ;lds/0fdf X s] xf] < 

 What is X in the given chemical equation? 

 NaOH + X      NaCl + H2O 

  (i)  NaH   (ii)   Cl2   (iii)  HCl   (iv)  H2O + Cl2 

(j) sfj{lgs kbfy{x¿ h:t} v]/ uPsf] vfB kbfy{, dflg; / hgfj/x¿sf] 

dnd'q, kmf]x/ cflb hn k|b'if0fsf d'Vo ;|f]tx¿ x'g\ . kfgLdf x'g] cTolws 

sfj{lgs kbfy{x¿n] hlno hLjgx¿nfO{ xfgL k'¥ofpg] sf/0f tnsf dWo] 

s'g xf] < 

        Organic matter is considered as a major source of water pollution 

caused by wastes of food, animal and human excreta, garbage etc. 

Which of the following is a threat to aquatic life due to the excess 

of organic matter in water?  

(i) hlno hLjx¿nfO{ 7fpFsf] cefj x'g' 

       The lack of space available to aquatic life 

(ii) ;"IdhLjx¿n] s'lxg] sfj{lgs kbfy{x¿af6 clS;hg pkef]u ug]{ 

ePsfn] 

 Microorganisms consume dissolved oxygen to decompose 

organic matter. 
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(iii) ;fgf] hgfj/x¿n] sfj{lgs kbfy{x¿nfO{ vfgfn] . 

 Organic matter is swallowed by small animals. 

(iv) sfj{lgs kbfy{ s'lxFbf kfgLsf] tfkj|md a9\gfn] .  

 Decomposition of organic matter increases the temperature 

of water. 

;d"x …vÚ  (Group ‘B’) 

@= clt 5f]6f] pQ/ cfpg] k|Zgx¿ M 9×1=9  
 Very short answer type questions:  

(a) cfl>t r/ eg]sf] s] xf] <Pp6f pbfx/0f klg n]Vg'xf];\ . 

What is dependent variables?Write with an example. 

(b) pWj{rfk / lj:yflkt t/nsf] tf}nlarsf] ;DaGw n]Vg'xf];\ .  

 Write the relation between upthrust and weight of displaced 

liquid. 

(c) kf]v/Ldf kfgLsf] ulx/fO{ jf:tljs ulx/fO{eGbf sd b]lvG5 < lsg<  

 The apparent depth of water in a pond appears less than the real 

depth. Why? 

(d) Pp6f n]G;sf] ;fdYo{ 1 8fOcf]K6/ 5 eg] pSt n]G;sf] s]Gb|Ls/0f b'/L slt 

xf]nf < 

 What is the focal length of lens having power 1 dioptre? 

(e) 3/sf] sf]7fdf ePsf] kª\vfsf] l:jr cg ubf{ kª\vf 3'Db5 . o;df 

ljB'tsf] s'g l;4fGt k|of]u ePsf] 5 < 

 A fan in a room rotates when its switch is made on which 

principle is used here? 

(f) a|Xdf08df ePsf 7'nf lk08x¿sf] cl:tTjsf nflu s'g an lhDd]jf/ /xG5 < 

 Which force is responsible for the existence of heavenly bodies in 

the universe? 

(g) kmnfdsf] d'Vo wfpsf] gfd n]Vg'xf];\ . 

 Write the name of main ore of iron. 

(h) ;lj|mo wft'sf] l/8S;g On]S6«f] l/kmfOlgË ljlwaf6 dfq ;Dej x'G5, lsg< 

 Why reduction of active metal is possible only by the electro 

refining method? 

(i) lbOPsf] of}lussf] cf0fljs ;'q n]Vg'xf];\ . 

 Write molecular formula of given 

compound. 
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;d"x …uÚ  (Group ‘C’) 

5f]6f] pQ/ cfpg] k|Zgx¿ M 

Short answer type questions : 14x2=28 

#= kf]6]lG;on l8km/]G;sf] PsfO (V) = kgm
2
s

-3
A

-1
 x'G5 egL k|dfl0ft ug'[xf];\ . 

 Prove that the unit of potential difference  (V) = kgm
2
s

-3
A

-1
 

$= lhDgf]:kd{sf] s'g} b'O{ ljz]iftfx¿ n]Vg'xf];\ . 

 Write any two characteristics of gymnosperm. 

%= lbOPsf] cjwf/0ff lrqdf A / B n] s'g k|lj|mofnfO{ hgfpFb5 < 

 Which process is represented by A and B. 

       

 

 
 

^= l8Knf]O8  sf]if / x\ofKnf]O8 sf]if lar b'O{cf]6f leGgtfx¿ n]Vg'xf];\ . 

 Write any two differences between diploid cell and haploid cell? 

&= s'g s'g b'O{ cj:yfdf dlxnfsf] k|hggnfO{ Og le6«f] kml6«nfOh];gn] ;xof]u 

k'¥ofpF5 < 

 In which two conditions in vitro fertilization helps for reproduction in 

women? 

*= lz/fx¿df eNe x'G5 t/ wdgLdf x'b}g, lsg < 

 Valves are present in veins but not in arteries, why? 

(= ;Fu} lbOPsf lrqx¿ cWoog ug'{xf];\ . 

 Study the given figures alongside. 

 lrq (a) df lbOPsf] lj?jfsf] Pp6f 

dxTj pNn]v ug'{xf];\ . 

 Write an importance of a plant 

given in figure (a). 

 lrq (b) df lbOPsf] lj?jfsf] s'g efu 

a9L pkof]uL x'G5 < 

 Which part of the plant given in 

figure (b) is more useful? 

!)= :jtGq v;fOsf] s'g} b'O{ cf]6f pbfx/0f lbg'xf];\ . 

 Give any two examples of free fall.  

!!= s'g} 'h' prfO{ ePsf] :tDesf] 6'Kkf]af6 Pp6f j:t' v;fOPsf] 5, ToxL ;dodf ;f] 

:tDesf] k]mbaf6 20m/s sf] ultdf csf]{ j:t' cfsf; lt/ km\ofFlsPsf] 5 . b'O{ -@_ 

;]s]G8 kl5 ltgLx¿ Pp6} ljGb'df k'U5g\ eg] ;f] :tDesf] prfO{ lgsfNg'xf];\ .  

(g = 10m/s
2
) 

 A body is dropped from top of the tower of height 'h' and at the same 

time next body is thrown up from the bottom of tower with velocity 

efn] df}/L 

Drone Bee 

df}/L 

Honey Bee 

k|hgg\ of]Uo /fgL df}/L 

Fertile Queen Bee 

A B 

(a) (b) 
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20m/s. If these bodies meet after 2 sec. at a point of the tower, 

calculate the height of the tower. (g = 10m/s
2
) 

!@= :6]kck / :6]k8fpg 6«fG;kmd{/sf] Ps÷Ps pkof]lutf n]Vg'xf];\ . 

 Write an application of step up transformer and step-down transformer 

each. 

!#= lrqdf a.c. h]g]/]6/sf] SjfOn b]vfOPsf] 

5 . pSt h]g]/]6/df pkkflbt 

On]S6«f]d]l6e kmf];{sf] dfqf a9fpg] s'g} 

b'O{cf]6f pkfox¿ n]Vg'xf];\ . 

 The coil of the a.c. generator is 

shown in the diagram. Write any 

two ways of increasing the amount 

of induced electromotive force. 

!$= dfgf}F sf]lgsn ˆnfS; P / Q df a/fa/ cfotgsf] xfO8«f]hg k]/f]cS;fO8 

/flvPsf] 5 . olb P / Q km\nf:sx?df s]xL dfqfdf j|mdzM MnO2 / H3PO4 

s|dzM /flvof] eg] s'g sf]lgsn ˆnfS;df /f;folgs k|ltlj|mofsf] b/ a9L x'G5 

< sf/0f;lxt n]Vg'xf];\ . 

 Suppose equal volume of hydrogen peroxide is kept in conical flask P 

and Q. If some amount of MnO2 and H3PO4 are kept in P and Q 

respectively, in which conical flask rate of chemical reaction is faster? 

Write with reason. 

!%= s'g} Ps xfO8«f]sfj{gsf] of}lus 'A' nfO{ afof]nf]lhsn :k]l;d]g ;'/lIft /fVg / 

csf]{ xfO8«f]sfj{g 'B' nfO{ ld7fO{ u'lnof] agfpg k|of]u ul/G5 . tnsf 

k|Zgx¿sf] pQ/ lbg'xf];\ . 

 A hydrocarbon compound 'A' is used to preserve biological specimen 

and next hydrocarbon 'B' is used as sweetening agent in confectionery. 

Answer the following questions. 

 (i) of}lus 'A' sf] IUPAC gfd n]Vg'xf];\ . 

 Write down IUPAC name of compound 'A'. 

(ii) of}lus 'B' sf] ;+/rgfTds ;"q n]Vg'xf];\ . 

 Write the structural formula of compound 'B'.   

!^= af]hf]sf] b}lgs hLjgdf s'g} b'O{ pkof]lutf n]Vg'xf];\ . 

 Write any two applications of Calamus in daily life. 

 

  



RE- 1041 

7 
 

;d"x …3Ú  (Group ‘D’)  

nfdf] pQ/ n]Vg'xf];\ M 

Write long answers. 7×4=28 

 

!&= lrq cWoog u/L tnsf k|Zgsf] pQ/ n]Vg'xf];\. 

     Study the figure and answer the following questions. 
 

 

 

 

 (i) dfly pNn]lvt k|ljlwsf] k|of]u x'g] s'g} b'O{ pbfx/0fx¿ n]Vg'xf];\ . 

 Write any two examples in which above technology is used. 

(ii) Transmitter / Receiver sf] sfo{x¿ n]Vg'xf];\ . 

 Write  the function of transmitter and receiver? 

!*= Pp6f kl/jf/df b'O{hgf 5f]/Lx¿dfq 5g\ . s] pQm kl/jf/df >Ldfg\sf] 

z's|sL6df 'Y' j|mf]df]hf]d pTkfbg x+'b}g eGg] cy{ nfU5 < lnª\u lgwf{/0f rf6{ 

;lxt JofVof ug'{xf];\ . 

 A family has got only two daughters. Does it mean that the husband 

does not produce sperm bearing 'Y' chromosome? Explain it by 

showing sex determination chart. 

!(= lbOPsf] lrqdf /utsf] agfj6 b]vfOPsf] 5 . lrq 

x]/L tnsf k|Zgx¿sf] pQ/ n]Vg'xf];\ . 

 The composition of blood is shown in the 

given figure. Answer the following questions. 

 (i) B sf] gfd n]Vg'xf];\ . 

   Write the name of B. 

(ii) A sf] ;ª\Vof /utdf sd b]lvof] eg] s'g /f]u 

nfU5 < 

 Which disease may occur if number of A 

is less in blood? 

(iii) C sf d'Vo sfo{ s] xf] < 

 What is the main function of C? 

(iv) B sf] cfo' slt x'G5 < 

 What is the life span of B? 

Analog 

Signal 
transmitter media receiver 

digital 

signal 

C 

B 

A 
D 
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@)= ;Fu}sf] tflnsf cWoog u/L ;f]lwPsf k|Zgsf] hjfkm lbg'xf];\ . 

 Study the given table and answer the following questions. 

wft' Metal ljlzi6 tk wf/0f Ifdtf 

Specific heat capacity 

A 234 J/Kg 
o
C 

B 400 J/Kg 
o
C 

C  900 J/Kg 
o
C 

(i) k|To]s wft'sf] a/fa/ lk08nfO{ ttfP/ ;dfg tfkj|mddf k'¥ofO{ xfjfdf 

5f]8\bf s'grflxF l56f] ;]nfpF5 < lsg < 

 Which one get cooled faster, if equal mass of these three metals 

are heated to maintain same temperature and then they are 

exposed in the air ? Why ? 

(ii) ;a} wft'sf] a/fa/ lk08nfO{ ;dfg tfkj|md a[l4 ug{ s'gnfO{ a9L 

tfkzlSt rflxG5 < lsg < 

 Which one of these three metals of same masses need more heat 

energy to maintain same temperature? Why? 

@!= Pshgf dflg;n] cfFvfaf6 6f9f nu]/ dfq lstfa k9\g ;S5 . o; tYosf 

cfwf/df lgDg k|Zgx¿sf] pQ/ n]Vg'xf];\ . 

 A man can read books only keeping away from his eye. Answer the 

following questions on the basic of this fact. 

(i) cfFvfsf] sdhf]/L s'g k|sf/sf] xf] < 

 What is the type of defect of vision of eye? 

(ii) of] sdhf]/L x'gfsf] Pp6f sf/0f n]Vg'xf];\ . 

 Write one cause of this defect of vision. 

(iii) of] sdhf]/L x6fpFg tkfO{ s] ;Nnfx lbg'x'G5 < 

 What suggestion do you give to remove this defect? 

(iv) of] sdhf]/L ;RofOPsf] lrq agfpg'xf];\ . 

 Draw a diagram showing the correction. 

@@= A, B, C, D, E, F, G / H cf7 tTjx¿sf] k/df0f'df clj{6sf] ;+Vof a/fa/ 5 

t/ ;+o'Hotf ;"rs On]S6«f]gsf] ;+Vof km/s 5 . tTj A / G ;+of]hg eO 

cfof]lgs of}lus agfp+5 . of] /;fog b}lgs vfgf agfpg] s|ddf t/sf/Ldf 

k|of]u ul/G5 . A / B sf] cS;fO{8 Iffl/o x'G5g\, hjsL E / F cDnLo x'G5g\ . 

D sf] cS;fO{8 t6:y x'G5 . o;sf] cfwf/df lgDgk|Zgx¿sf] pQ/ lbg'xf];\ . 

 Atoms of eight elements A, B, C, D, E, F, G and H have equal number 

of orbits but different number of valence electrons.  Elements A and G 

combine to form an ionic compound. It is used to add in vegetables at 

the time of cooking food. Oxides of elements A and B are basic while 
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E and F are acidic. The oxide of D is neutral. Based on this 

information, answer the following questions. 

(i) ;"lra4 tTjx¿ cfw'lgs k]l/of]l8s tflnsfsf] s'g lkl/o8;Fu ;DalGwt 

5g\ < 

 To which period of modern periodic table do the listed elements 

belong? 

(ii) ;"lra4 tTjx¿dWo] ;a}eGbf ;lj|mo wft' / cwft'sf] ;ª\s]t n]Vg'xf];\ . 

 Write the symbols of highly reactive metal and highly reactive 

non metal from the listed elements. 

(iii) /f;folgs k|ltlj|mofdf efu glng] tTjsf] ;+s]t n]Vg'xf];\ . 

 Write the symbol of elements that does not take part in chemical 

reaction. 

(iv) tTj B / F lar Pp6f dxTjk"0f{ km/s n]Vg'xf];\ . 

 Write an important difference between B and F. 

@#= k|of]uzfnfdf sfa{g 8fOcS;fO8 UofF; agfpg] ljlwsf] ;kmf lrq agfO 

gfdfs/0f ug'{xf];\ . pSt UofF;sf] k/LIf0f ln6d; k]k/sf] ;xfotfn] s;/L 

ul/G5 < n]Vg'xf];\ . 

 Draw a well labeled diagram of laboratory preparation of carbon 

dioxide gas. How is this gas tested by using litmus paper? Explain. 

  

 

 

 

 

 


